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Statistics and Probability



Conditional Probability



Bayes’ Theorem



Marginalization



Graphical Models
●  joint p(x, y) or conditional p(y | x) probability distribution
● represented as G=(V,E)
● Enables us to encode relationships between a set of random variables
● There are two types of graphical models : Directed Graphical Model and Undirected Graphical Model
● Directed edges gives a causality relationships
● Undirected edges give correlations between variable



Direct Graphical Model
● Assume a directed, acyclic graphical model G=(V,E) and E ⊂VxV

where ypaG(i)  is conditional probability distribution on the 
parents of node i 



Undirected Graphical Model
● An undirected graphical model G=(V,E) is called Markov Random Field (MRF) if two 

nodes are conditionally independent whenever they are not connected. 

where N(i) is the neighbor of node i

where cl(i)=N(i) U {i} is the closed neighborhood of i. 



Convolutions
Some figures adapted from Simon Lucey’s 16-720b slides and 

Introduction to Deep Learning 11-785



What is a (Discrete) Convolution?

Concatenation of inner products 
of filter and receptive fields of 
signal.

Unlike an arbitrary affine 
transform, convolutions preserve 
locality.

These would be + in 
cross-correlation



Why do Convolutions Work?

Natural signals are locally smooth!

In natural images, neighboring pixels 
tend to be highly correlated.

Convolutions exploit this local 
correlation to generalize better than 
fully connected networks.

Convolutional layers DO NOT learn 
random noise better than fully 
connected layers!



Computer Vision B.C. (Before Conv-Nets)

Canny 
Algorithm

Filters were 
hand-designed to 
extract features for 
the intended task!



Computer Vision A.D. (After Deep Learning)

Now, optimal filters 
are learned through 
back-propagation!



How do we do convolutions?



What is an image?
A thousand words.  A Matrix I of dimensions (M,N)with I[i][j] = intensity(pixel(i,j))



Components of a CNN

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

Input - A

W1,1 W1,2

W2,1 W2,2

Kernel - W

B1,1

Bias - B

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Output - Z
Z = (A ⊗ W) + B



Convolution steps

Essentially element-wise (Hadamard) multiplications and summations



Convolution steps

Essentially element-wise (Hadamard) multiplications and summations

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1

Z1,1 = (A1,1*W1,1) + 
Z1,1 = (A1,2*W1,2) +
Z1,1 = (A2,1*W2,1) +
Z1,1 = (A2,2*W2,2) +
Z1,1 =  B



Convolution steps

Essentially element-wise (Hadamard) multiplications and summations

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2

Z1,2 = (A1,2*W1,1) + 
Z1,1 = (A1,3*W1,2) +
Z1,1 = (A2,2*W2,1) +
Z1,1 = (A2,3*W2,2) +
Z1,1 =  B



Convolution steps

Essentially element-wise (Hadamard) multiplications and summations

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2 Z1,3

Z1,3 = (A1,3*W1,1) + 
Z1,1 = (A1,4*W1,2) +
Z1,1 = (A2,3*W2,1) +
Z1,1 = (A2,4*W2,2) +
Z1,1 =  B



Convolution steps

Essentially element-wise (Hadamard) multiplications and summations

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2 Z1,3

Z2,1



Convolution steps

Essentially element-wise (Hadamard) multiplications and summations

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2



Convolution steps

Essentially element-wise (Hadamard) multiplications and summations

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3



Convolution steps

Essentially element-wise (Hadamard) multiplications and summations

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1



Convolution steps

Essentially element-wise (Hadamard) multiplications and summations

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2



Convolution steps

Essentially element-wise (Hadamard) multiplications and summations

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3



Output Size

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3



Output Size

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Output Width = 
[(Win - Wk + 2P) // (S)] + 
1

Output Height = 
[(Hin - Hk + 2P) // (S)] + 
1



Output Size

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Output Width = 
[(Win - Wk + 2P) // (S)] + 
1



Output Size

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Output Width = 
[(Win - Wk + 2P) // (S)] + 
1

P: Padding (here - 0)
S: Stride  (here - 1)



Padding

● Attaching zeros (usually) around inputs.

● Images can be padded to the left, right, top, and bottom.



Padding

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,1 = (A1,1*W1,1) + 
Z1,1 = (A1,2*W1,2) +
Z1,1 = (A2,1*W2,1) +
Z1,1 = (A2,2*W2,2) +
Z1,1 =  B



Padding

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3



Padding

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

��
Never Meet…



Padding

Increase output size
Preserve input size
More Kernel Interactions!



Padding

W1,1 W1,2

W2,1 W2,2

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

B1,1



Padding

W1,1 W1,2

W2,1 W2,2

B1,1

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

0 0 0 0

0

0

0

0

0

A4,1 A4,2 A4,3 A4,4 A4,4

0

0

0

0

0

A4,1 0 0 0 0 00

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Z1,4

Z2,4

Z3,4

Z4,1 Z4,2 Z4,3 Z4,4



Padding

W1,1 W1,2

W2,1 W2,2

B1,1

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

0 0 0 0

0

0

0

0

0

A4,1 A4,2 A4,3 A4,4 A4,4

0

0

0

0

0

A4,1 0 0 0 0 00

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Z1,4

Z2,4

Z3,4

Z4,1 Z4,2 Z4,3 Z4,4



Padding

W1,1 W1,2

W2,1 W2,2

B1,1

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

0 0 0 0

0

0

0

0

0

A4,1 A4,2 A4,3 A4,4 A4,4

0

0

0

0

0

A4,1 0 0 0 0 00

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Z1,4

Z2,4

Z3,4

Z4,1 Z4,2 Z4,3 Z4,4

☺ 



Stride

Taking bigger steps!



Stride = 1

What we did before - The kernel “moves” one pixel (or element) at a time.

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3



Stride = 2

Start at the same place

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1

Z1,1 = (A1,1*W1,1) + 
Z1,1 = (A1,2*W1,2) +
Z1,1 = (A2,1*W2,1) +
Z1,1 = (A2,2*W2,2) +
Z1,1 =  B



Stride = 2

Move two elements to the right

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2

Z1,2 = (A1,3*W1,1) + 
Z1,1 = (A1,4*W1,2) +
Z1,1 = (A2,3*W2,1) +
Z1,1 = (A2,4*W2,2) +
Z1,1 =  B



Stride = 2

Move two elements down.

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2

Z2,1



Stride = 2

Move two elements to the right.

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2

Z2,1 Z2,2



Multi-channel CNN

???



Multi-channel CNN

● Each kernel (or filter) has as many channels as the input does

● Channel c of the kernel convolves with channel c (corresponding) of the input.

● The number of output channels from the convolution = number of filters

Cin = Input channels

Ckernel = Kernel channels = Cin
K = Number of Kernels = Cout = Number of output channels



1 Filter with 3-channel input

ZB,1,1 ZB,1,2 ZB,1,3

ZB,2,1 ZB,2,2 ZB,2,3

ZB,3,1 ZB,3,2 ZB,3,3

WB,1,1 WB,1,2

WB,2,1 WB,2,2

BB,1,1

⊗ =

1 channel input Kernel 1 almost-output 
map



1 Filter with 3-channel input

W1,1 W1,2

W2,1 W2,2

WB,1,1 WB,1,2

WB,2,1 WB,2,2

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

ZB,1,1 ZB,1,2 ZB,1,3

ZB,2,1 ZB,2,2 ZB,2,3

ZB,3,1 ZB,3,2 ZB,3,3

B1,1BB,1,1

⊗ =

2 channel input Kernel 2 almost-output 
maps



1 Filter with 3-channel input

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

WB,1,1 WB,1,2

WB,2,1 WB,2,2

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

ZB,1,1 ZB,1,2 ZB,1,3

ZB,2,1 ZB,2,2 ZB,2,3

ZB,3,1 ZB,3,2 ZB,3,3B1,1B1,1BB,1,1

⊗ =

3 channel input Kernel 3 almost-output 
maps



1 Filter with 3-channel input

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

WB,1,1 WB,1,2

WB,2,1 WB,2,2

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

ZB,1,1 ZB,1,2 ZB,1,3

ZB,2,1 ZB,2,2 ZB,2,3

ZB,3,1 ZB,3,2 ZB,3,3

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

B1,1B1,1BB,1,1

⊗ =

Kernel 3 almost-output 
maps

1 output map

Add
 through 
channels

3 channel input



2 Filters with 3-channel input

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

W1,B,1,

1

W1,B,1,

2

W1,B,2,

1

W1,B,2,

2

Z1,2,2
B1,1B1,1B1,B,1,1

⊗

2 Kernels 2 output maps

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

B1,1B1,1B2,B,1,1

Z2,2,2

WB,1,1 WB,1,2

WB,2,1 WB,2,2

W2,B,1,

1

W2,B,1,

2

W2,B,2,

1

W2,B,2,

2

3 channel input



2 Filters with 3-channel input

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

W1,B,1,1 W1,B,1,2

W1,B,2,1 W1,B,2,2

B1,1B1,1B1,B,1,1

⊗

2 Kernels - 
4 Dimensional

2 output maps

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

B1,1B1,1B2,B,1,1

WB,1,1 WB,1,2

WB,2,1 WB,2,2

W2,B,1,1 W2,B,1,2

W2,B,2,1 W2,B,2,2

Z1,2,2

Z2,2,2

3 channel input



2 Filters with 3-channel input

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

W1,B,1,

1

W1,B,1,

2

W1,B,2,

1

W1,B,2,

2

Z1,2,2

B1,1B1,1B1,B,1,1

⊗

Kernels 
(W, B)

2 channel Output
(Z)

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

B1,1B1,1B2,B,1,1

WB,1,1 WB,1,2

WB,2,1 WB,2,2

W2,B,1,

1

W2,B,1,

2

W2,B,2,

1

W2,B,2,

2

3 channel input
(A)

Z = (A ⊗ W) + B



Pooling

● Usually follows convolutions

● Introduces Jitter Invariance

● Reduces feature-map size

● Max, Mean, Min 



Pooling

16 9

67 13

3 9

0 7

6 12 13 8

67 18 3 7

4 8

1016
2x2 Max Pool 

Stride = 2



Pooling

9.5 4.75

25.75 7.75

3 9

0 7

6 12 13 8

67 18 3 7

4 8

1016
2x2 Mean Pool 

Stride = 2



Convolutional Layer Implementation

- Earlier we said that a discrete convolution is a concatenation of inner products 
between the filter and receptive fields. This involves a lot of matrix 
multiplications!

- Parallelized matrix operations make this much faster than using a sliding filter.
- im2col, im2col_bw are needed

THIS IS THE HARDEST PART OF THE PROGRAMMING. START EARLY!



Forward propagation

Here are the following steps
1. Transform our input image into a matrix (im2col)
2. Reshape our kernel (flatten)
3. Perform matrix multiplication between reshaped input image and kernel 



Forward propagation

Here are the following steps
1. Transform our input image into a matrix (im2col)
2. Reshape our kernel (flatten)
3. Perform matrix multiplication between reshaped input image and kernel 



Step 1: Transform our input image into a matrix (im2col)



Example
We will perform a convolution between an (1,3,4,4) input image and kernels of shape (2,3,2,2)



Forward propagation

Here are the following steps
1. Transform our input image into a matrix (im2col)
2. Reshape our kernel (flatten)
3. Perform matrix multiplication between reshaped input image and kernel 



Forward propagation

Here are the following steps
1. Transform our input image into a matrix (im2col)
2. Reshape our kernel (flatten)
3. Perform matrix multiplication between reshaped input image and kernel 



Step 2: Reshape our kernel (flatten)

As you can see, each filter is flattened and then stacked together. Thus, for X filter, we will flatten and stack X filters together. 



Forward propagation

Here are the following steps
1. Transform our input image into a matrix (im2col)
2. Reshape our kernel (flatten)
3. Perform matrix multiplication between reshaped input image and kernel 



Forward propagation

Here are the following steps
1. Transform our input image into a matrix (im2col)
2. Reshape our kernel (flatten)
3. Perform matrix multiplication between reshaped input image and kernel 



Step 3: Matrix multiplication between reshaped input and kernel

Now, we only need to perform a matrix multiplication.



Step 3: Matrix multiplication between reshaped input and kernel

- At the end, we need to reshape our matrix back to a feature map
- Be aware the np.reshape() method doesn’t return the expected result here

- Elements in the wrong order
- A little bit of numpy *magic* solves the problem



Pooling Layer



Backward propagation





























Some suggestions

Please start early, this assignment takes time!!!

- Im2col usually takes the most effort, try derive the example we did above using 
your hand to better understand it

- Make sure to test it correctly with small hand-derived example.


